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QUESTION 1
Analyze the code:
public class Test {
static String prefix = "Global:";
private String name = "namescope";

public static String getName () {
return new Test () .name;

}
public static void main(String[] args) {
Test t = new Test():;
System.out.println(/* Insert code here */);

Which two options can you insert inside println method to produce Global:namescope? (Choose two.)
A. Test.prefix+Test.name

B. new Test().prefix+new Test().name

C. Test.prefix+Test.getName()

D. Test.getName+prefix

E. prefix+Test.name

F. prefix+name

Correct Answer: BC

QUESTION 2

Given: Which code, when inserted at one or more marked positions, would allow classes B and C to compile?
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public interface A {
abstract wvoid x():

and

public abstract class B /* position 1 */ ({
/* position 2 */
public wvoid x() { }
public abstract void z():

and

public class C extends B implements A {

/* position 3 */

}
A. @Override // position 3 void x () {} // position 3 @Override // position 3 public void z() { } // position 3 // position 2
B. @Override public void z() { } // position 3
C. implements A // position 1 @OQverride // position 2

D. public void z() { } // position 3

Correct Answer: B

QUESTION 3

Given:
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public class Test {
public static void main(String[] args) {
AnotherClass ac = new AnotherClass();
SomeClass sc = new AnotherClass():

ac = sc;
sc.methoda() ;
ac.methodA() ;

}
class SomeClass {

public void methodA() {
System.out.println("SomeClass#methoda () ")

}
class AnotherClass extends SomeClass {
public void methodA() {
System.out.println("AnotherClass#methodA() ")

}

What is the result?

A. A ClassCastException is thrown at runtime.

B. AnotherClass#methodA() AnotherClass#methodA()
C. The compilation fails.

D. SomeClass#methodA() AnotherClass#methodA()
E. AnotherClass#methodA() SomeClass#methodA()
F. SomeClass#methodA() SomeClass#methodA()

Correct Answer: A

QUESTION 4

Given:
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public class Tester {
public static void main(String[] args) {
byte x =7, vy = 6;
// line 1
System.out.println(z):

Which expression when added at line 1 will produce the output of 1.177?
A. float z = (float)(Math.round((float)x/y*100)/100);

B. float z = Math.round((int)(x/y),2);

C. float z = Math.round((float)x/y,2);

D. float z = Math.round((float)x/y*100)/(float)100;

Correct Answer: D

Console 5 x Console 7

1.17

Completed with exit code: 0

QUESTION 5

Given:
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public class DNASynth {
int aCount;
int tCount;
int cCount;
int gCount;

volid setACount (int cCount) {
cCount = cCount;

}
void setTCount () {
this.tCount = tCount;

}
int setCCount () {

return cCount;

}

int setGCount (int g) {
gCount = g;
return gCount;

}
void setAllCounts(int x){

aCount = tCount = this.cCount = setGCount (x):

Which two methods modify field values? (Choose two.)
A. setAllCounts

B. setACount

C. setGCount

D. setCCount

E. setTCount

Correct Answer: BE
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